neo

self-service solutions

TSST Kiosk

Quick Start Guide
Part# 15201-GAOxx

NeoProducts Pty Ltd ACN 007 152 374 ABN 76 007 152 374, 62-66 Pacific Drive, Keysborough, Vic, 3173
Telephone 03 9701 1511 www.neoproductsgroup.com

15201 Betmakers TSST_Quick Start Guide_ECN 6493 Page 1 of 7


http://www.neoproductsgroup.com/

‘neo

self-service solutions

TSST Kiosk

Component Descriptions

Customer
LCD Screen

Swipe Card Reader

Printer

BNA
Betslip Reader

NFC

Teller LCD
Screen

NeoProducts Pty Ltd ACN 007 152 374 ABN 76 007 152 374, 62-66 Pacific Drive, Keysborough, Vic, 3173
Telephone 03 9701 1511 www.neoproductsgroup.com

15201 Betmakers TSST_Quick Start Guide_ECN 6493 Page 2 of 7


http://www.neoproductsgroup.com/

QUICK START GUIDE

CAUTION: Servicing of this product or unit is to
be performed by trained service personnel only.

neo

self-service solutions

1.0 Unpacking TSST Kiosk

Remove the strapping from the TSST outer carton.
Caution: The strapping is under tension and can flick
when cut.

Carefully lift the outer carton off the Pallet. Ensure
the internal packaging is free from damage.

Remove all packaging provided from the Kiosk
components.

Remove and clear the film from the Teller LCD
screen.

Example table only

Approx location of
Furniture Mount Plate

As required, remove the old machine from the fixed
table — check that the Furniture Mount Plate is not
damaged.

Carefully remove the TSST Kiosk from the Pallet.

Caution — TSST Kiosk requires a two-person lift:
Kiosk weight w/o BNA = 62Ibs.
Kiosk weight w BNA = 72Ibs.

Refer to the User Service Manual for Safety
Information.

Install the TSST Kiosk into the existing Furniture
Mount Plate fastened to the table — refer image for
location.

Note: The TSST is only suitable for mounting into a
permanent installation — being permanently affixed to
the building.

Furniture /

Mount Plate

Contact #2 & 3 v a1

Ensure that the TSST Kiosk is located into the
Furniture Mount Plate using the 3x points of contact
in areas shown.

Once the 3x points of contact are engaged, the TSST
Kiosk is prevented from removal within the fixed
table.

e Contact #1: Kiosk “Z” retainment.
e Contact #2 & #3: Kiosk “X” & “Y” retainment.

Note: Kiosk Components are not shown for clarity to
describe the 3x points of contact.

15201 Betmakers TSST_Quick Start Guide_ECN 6493

Page 3 of 7




r ¢ CAUTION: Servicing of this product or unit is to
n e 0 QUICK STA RT G U I DE be performed by trained service personnel only.
self-service solutions

1.0 Unpacking TSST Kiosk (continued)

Carefully remove the Customer Screen from the
separate packaging.

The Stand Arm is supplied in a folded pack position
and will need to be adjusted for installation into the
Kiosk.

Prior to installation into the TSST Main Chassis,
adjust & firmly tighten the:

- 2x M6 Unbrako Bolts on rear of LCD Screen
using a 5mm Allen Key.

2 x M6 Unbrako

2x M6 Nyloc Nuts on the LCD Stand Arm using a
10mm Socket Head Drive Socket & Handle.

2 x M6 Nyloc Nut

Step 1.
Open the TSST Top Lid & present the Customer

Screen assembly to the TSST Main Chassis.

Step 2:
Position and slide the LCD Screen Mount to the

TSST Main Chassis towards the LH Side, nesting the
Mount into the slotted holes.

Step 3:
Tighten 2x Button Head Screws using a 5mm Allen

Key.

Readjust the Customer Screen to the preferred

position & tighten:

- 2x M6 Unbrako Bolts on rear of LCD Screen
using a 5mm Allen Key.

Step 4:
2x M6 Nyloc Nuts on the LCD Stand Arm using a

10mm Socket Head Drive Socket & V4" Drive Torque
Wrench to 9Nm max.

15201 Betmakers TSST_Quick Start Guide_ECN 6493 Page 4 of 7



CAUTION: Servicing of this product or unit is to

“.n e O QUICK STA RT GU I DE be performed by trained service personnel only.

self-service solutions

1.0 Unpacking TSST Kiosk (continued)

Monitor HDMI USB Connect 3x LCD Screen Loom plugs into the Hub 10
Power Mount Kit.

Ensure plugs “click” into each connection.

To ensure that the Ferrite completely clears the
Ticket Chute, push the Ferrite along the HDMI Loom
towards the Hub 10 Mount Kit as shown.

Remove green plastic film & white protective film
from the Customer Screen assembly.

Hub 10 Mount Kit

2.0 Power up the Kiosk

Power, Fuse and Network are accessed from the
bottom of the unit.

The Kiosk is intended to be used in a location having
equipotential bonding (such as a restricted access
area) and is connected to power using an earthed
IEC cable supplied.

Verification of the protective earthing connection of
the socket-outlet to be performed by a skilled person.

Plug in the Network cable into position shown.

Plug the Power lead into position shown.

Switch unit from O — |I.

15201 Betmakers TSST_Quick Start Guide_ECN 6493 Page 5 of 7



).n e 0 QUICK START GUIDE CAUTION: Servicing of this product or unit is to

be performed by trained service personnel only.

self-service solutions

3.0 Loading printer paper

Unlock and open the Top Door by pushing the Button
on the RH side of the Top Door.

This provides access to the printer paper.

To access the printer paper tray, rotate the paper roll
bracket in an upwards direction.

Remove the paper roll & paper roll spindle from the
packaging kit.

Slide the paper roll onto the paper roll spindle and re-
install back onto the printer swing bracket.

Load the paper roll so that it unrolls from the top.

Feed the paper over the spindle into the printer. The
printer will automatically take the feed and perform a
small cut on the end of the paper.

>
paPER 71
sPINDLE 71

2 kT
PAPER - L
A PAPER

ROLL
-

Close the Top Door by pushing down waiting for a
“click” to indicate locked position.

15201 Betmakers TSST_Quick Start Guide_ECN 6493 Page 6 of 7



be performed by trained service personnel only.

hn e D QUICK STA RT GU I DE CAUTION: Servicing of this product or unit is to

self-service solutions

4.0 Location of Modem and inserting SIM Card

The Modem is in the Main Frame against the rear wall,
Swing behind the Betslip Reader Swing Mount.

Mount

To remove the Modem, unlock and open the Top Door
by pushing the Button on the RH side of the Top Door

Betslip Bin

Swing open the Betslip Reader swing mount.

Remove the Betslip Bin.

Insert SIM Card into Modem from the rear in the
orientation shown.

Check that the Antenna Wire is connected after the
SIM Card installation.

15201 Betmakers TSST_Quick Start Guide_ECN 6493 Page 7 of 7



